Lecture XVIII: Integration of 2- forms & Dolbcault's Thm Last time, we used Dolbeant's The To show H'(Dp(0), O)=H'(O, O)=0. <u>Notatin</u>: $C = D_{\infty}(o)$ Dolbeault's Thurem: Fix X = Dp(0) = 3 2: 121 CRY for OCRE as SEE(W) Then $\exists F \in \mathcal{E}(X)$ with $\frac{\partial F}{\partial \overline{z}} = \vartheta$ Today, we'll give a proof sketch of this result. We'll build I by an integral. For this, we need to talk about integration of differentiable z-forms. \$ 18.1. Integration of 2-forms on (: As usual, we start with the case $X = \mathbb{C}$. Fix $U \subseteq \mathbb{C}$ often a $w \in \mathcal{E}(v)$. Write w= Fdxndy with FEE(U) Det: Assume I has compact support (ie 3KEU compact st FIU.K = 0). Then $\iint_{U} \omega := \iint_{(x_{>3})} f_{x > 3} d_{x} d_{y}$

. Next, we want to see bohat happens under holmsephie coordinate changes:

Lemma: Fix
$$V \subseteq \mathbb{C}$$
 often & $\Psi: V \longrightarrow U$ a biholomorphic map. If
 $w \in \mathcal{E}_{(U)}^{(2)}$, then $\iint_{U=\Psi(v)} W = \iint_{V} \mathcal{P}_{W}^{K}$
 $\underbrace{Susof}_{:} Waite \mathcal{P}_{=} x + iy \Longrightarrow \frac{\partial(x,y)}{\partial(u,v)} = \begin{bmatrix} x_{u} & x_{v} \\ y_{u} & y_{v} \end{bmatrix}$
This gives $J(x,y) \coloneqq dut \left(\frac{\partial(x,y)}{\partial(u,v)}\right) = x_{u}y_{v} - x_{v}y_{u} = x_{u}^{2} + x_{v}^{2} = |\mathcal{P}_{v}|^{2}$
 CR

The damical change of coordinates gives
$$\iint_{V} F d \times dy = \iint_{V} F_{0}\varphi \cdot J(x,y) du dv$$

But $\varphi^{\mu}(dz \wedge d\overline{z}) = d\varphi \wedge d\overline{\varphi} = (\partial \varphi dz) \wedge (\partial \overline{\psi} d\overline{z}) = \varphi' \cdot \overline{\varphi'} dz \wedge d\overline{z}$
 $\frac{\varphi}{\psi} \log \partial z^{2} \qquad \partial \overline{z}$
 $\frac{\varphi}{\psi} \log \partial z^{2} \qquad \partial \overline{z}$
 $= (\varphi')^{2} dz \wedge d\overline{z}$

 $\Rightarrow \Psi^* \omega = f_0 \Psi \cdot |\Psi'|^2 du \wedge dv \in \mathcal{E}^{(2)}(V) \text{ gives } \iint \omega = \iint \Psi^*_{\omega}.$

$$\frac{\$ 18.2. \text{ Integration of } 2-forms on RS:}{\text{Fix X RS To define integration of 2-forms we noted to impact support
$$\frac{\bigoplus eF}{\bigoplus eF} = \text{Given } w \in \mathcal{E}_{(X)}^{(2)}, \text{ the support of } w \text{ is defined as} \\ \quad \text{Supp}(w) := \overline{\exists a \in X} : w_{(a)} \neq 0 \text{ f}} \\ \text{To define } \iint w \quad \text{with Supp}(w) \text{ conject }, we proceed in 2 steps: : \\ (1) we noted to blocal charto & conjectly supported realars \\ (2) we noted to blocal charto & conjectly supported w \\ (3) we noted the of white the extend from (1) to a general conjectly supported w \\ (2) \text{ STEP } : \text{ Fix } K (conject) \text{ support of } w & a \text{ assume we have } (U, \Psi) \text{ brad} \\ \text{chart with } K \subseteq U \quad \text{Write } \Psi: U \xrightarrow{\sim} V \subseteq C , \text{ so } (\Psi^{-1})^*: \mathcal{E}_{(U)}^{(2)} \rightarrow \mathcal{E}_{(V)}^{(2)} \\ \text{Then } \iint_{X} w = \iint_{V} w := \iint_{V} (\Psi^{-1})^* w$$$$

Lemma 1: The definition is indep of the choice of charts $\underline{3roof}$: Assume $\Psi: \cup_{i} \xrightarrow{\sim} \vee_{i}$ is another choice of charts with $K \subseteq \cup_{i}$. We can restrict to $\cup = \cup_{i}$ (otherwise take $\cup \cap \cup_{i} = \cup' = \Psi(\cup')$.) $\bigvee_{i}' = \Psi(\cup')$.

(moder
$$V_{1}, \frac{\Psi^{-1}}{\Psi}, \frac{\Psi^{-1}}{\Psi},$$

Next, we fromulate a special case of Stokes' Them in the plane.

Theorem 1: Fix $U \subseteq \mathbb{C}$ open a $A \subseteq U$ compact set with ∂A smooth. We orient ∂A so that the sectored normal as the tangent rector form a positively oriented basis for \mathbb{C} (is scintation inherited from \mathbb{C}). Then, for any $w \in \mathcal{C}^{(1)}(w)$, we have $\iint_{A} dw = \int_{\partial A} w$. We will anly need the case when A is a disk or an annulus, i.e.

A = z = 0 : $E \le |z| \le R z$ in ocec R.

If
$$w = f dx + g dy$$
, we have $dw = (g_x - f_y) dx dy$
(A)
$$\iint_{\mathcal{L}_{E}[k] \leq R} (g_x - f_y) dx dy = \int_{C_R} (f dx + g dy) - \int_{C_R} f dx + g dy$$

$$\lim_{k = D_R - D_R^{G_R}} \int_{C_R} f dx + g dy = \int_{C_R} (f dx + g dy) - \int_{C_R} f dx + g dy$$

$$\lim_{k = D_R - D_R^{G_R}} \int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy$$

$$\lim_{k = D_R - D_R^{G_R}} \int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy$$

$$\lim_{k = D_R - D_R^{G_R}} \int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy$$

$$\int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy$$

$$\int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy$$

$$\int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy$$

$$\int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy$$

$$\int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy$$

$$\int_{C_R} f dx + dy = \int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy + g dx$$

$$\int_{C_R} f dx + f dx = \int_{C_R} f dx + g dy + g dx + g dy + g dx + g dy + g dy + g dy + g dy$$

$$\int_{C_R} f dx + g dy = \int_{C_R} f dx + g dy +$$

BUT
$$\int_{0}^{1} \int_{0}^{1} \frac{1}{2} \int_{0}^{1} (\sin \Theta G) dr d\Theta = \int_{0}^{2} \sin \Theta G(r, \Theta) \Big|_{0}^{2} dr = 0, so$$

only the first term survives:

 $\iint_{\{\langle R\} \leq R} S_{X} \leq k \leq y = \int_{0}^{2\pi} c_{D} \Theta \left(\overline{R}G_{(R,\Theta)} - \varepsilon G_{(\xi\Theta)}\right) d\Theta = (RHS) of (k)$

because $\int g dy = \int G \cdot r \cos \theta d\theta$ $\forall \epsilon \leq r \leq \epsilon$. $G = \int G \cdot r \cos \theta d\theta$ $\forall \epsilon \leq r \leq \epsilon$. $G = \int G \cdot r \cos \theta d\theta$ $\forall \epsilon \leq r \leq \epsilon$. STEP Z w= f dx Use the change of wordinates (xy) - - (y, x) (we need the - to preserve the scientation) This transformation has determinant 1 so $\iint_{A} f_{y} dx dy = \iint_{A} g' dx dy$) fdx = S gdy 2A 2A <u>Proof for the disc</u>: Let $E \rightarrow 0^+$ for the annulus \mathcal{B} notice $\int f dx + p dy \rightarrow 0$ $C_E \qquad E \rightarrow 0^+$ Thurem 2: Suppose X is a R.S & we E(x) is a differential form with compact support. Then Sdw = 0

 $\frac{g_{noof}}{g_{i=1}} \quad \text{Fix U open with } U > \text{Supp} X = K \text{ compact. Find local charts}$ $(U_i, P_i)_{i=1}^N \text{ coming } K \text{ inside U & pick a partition of unit supprdimate to it.}$ $Waite \quad W_i = F_i W \quad so \quad W = W_1 + \dots + W_N \cdot n$

Then ead with has compact support a support $\subseteq U_i$ $\forall i=1,...,N$ In this outling, we are reduced to X=C, $U_i=D_R \ge Supp(w_i)$ Then $\iint_{C} dw_i = \iint_{|Z|\leq R} dw_i = \int_{|Z|=R} \bigcup_{|Z|=R} 0 = 0$. $\lim_{|Z|\leq R} \bigcup_{|Z|=R} \bigcup_{|Z$

\$18.4 Dolleault's Lemma.

Un met objecter ist to entime dim
$$H'(X, 0) < \infty$$
 whenever X is a compact W
Wi'll show the for $X = \mathbb{R}^{1}$. Is order to do the, we need to solve the equation
 $\frac{\partial E}{\partial Z} = 8$ for $F_{1} g \in \mathcal{E}_{1,X,Y}$ for $X = \mathbb{C}$ to $D_{R}(0) \leq \mathbb{C}$
(Name: In homogeneous Caecky-Riemann $E_{1,Y}$)
Lemma (Delbaart): Assume $g \in \mathcal{E}(\mathbb{C})$ has empect support. Then $\exists t \in \mathcal{E}(\mathbb{C})$
with $\frac{\partial E}{\partial Z} = g$
Proof. The solution F is given by a Caecky-Type integral
 $F(5) = \frac{1}{2\pi i} \iint_{\mathbb{C}} \frac{g(23)}{5-2} d \geq h d \geq ... = \frac{1}{2\pi i} \iint_{\mathbb{D}_{R}(5)} \frac{S(23)}{5-2} d \geq h d \geq ...$
If $Supp(g) \subseteq D_{R}(3)$
(Laim 1, $F \in \mathcal{E}(\mathbb{C})$
We empete S in polar coordinate. While $Z = S + re^{-i\theta}$
 $d \geq h d \geq ... = (dx + i dy) h (dx - i dy) = -2i dx h d y$
But $x = rcoord$ is $d = coord r - rsin 0 d 0$
 $y = r son 0$ is $d = son d r + r coord 0$
Thus $F(5) = \frac{1}{2\pi i} \iint_{0} \frac{g(S + re^{-i\theta})}{dy} (-2ir)dr d \theta = -\frac{1}{\pi} \iint_{0} \frac{g(S + re^{i\theta})e^{i\theta}}{e \in \mathbb{C}(\log Rie(9)\pi i)}$

· <u>Uain z</u> : $\frac{\partial f}{\partial \overline{z}} = 9$ We compute jointial derivatives, under the sign integral

$$\frac{\partial L}{\partial \overline{5}} = -\frac{1}{\pi} \int_{\partial \overline{5}}^{2\pi} \int_{\partial \overline{5}}^{2\pi} (5 + re^{i\Theta}) e^{-i\Theta} \frac{dr d\Theta}{dr d\Theta}$$

$$= \frac{d2 \wedge d\overline{2}}{-2ir}$$

$$= \frac{1}{\pi} \lim_{z \to 0^{+}} \lim_{z \to 0^{+}} \iint_{\partial \overline{5}} \frac{\partial g(5 + z)}{\partial \overline{5}} \frac{d2 \wedge d\overline{2}}{z}$$

$$B_{\varepsilon} = 52: \varepsilon(12) \varepsilon R_{\varepsilon}^{2}$$

$$B_{\varepsilon} = 1 - \varepsilon R_{\varepsilon}^{2}$$

Here, we used the fact that the first integral is well-befried to express it as a limit of an integral defined away from z = 0. Now: $\frac{\partial g}{\partial \overline{g}} (5+z) \frac{1}{z} = \frac{\partial g}{\partial \overline{z}} (5+z) \frac{1}{z} = \frac{\partial}{\partial \overline{z}} (\delta(5+z)/2) fr = 2 \neq 0$ So $\frac{\partial f}{\partial \overline{g}} = \frac{1}{2\pi i} \lim_{E \to 0^+} \iint_{B_E} \frac{\partial}{\partial \overline{z}} (\delta(5+z)/2) dz \wedge d\overline{z} = -\lim_{E \to 0^+} \iint_{B_E} dw$ where $w(z) = \frac{1}{2\pi i} \frac{\delta(5+z)}{z} dz$ (5 is a constant $g \ge is$ the variable) By Stoke's Thue in B_E we get $\frac{\partial f}{\partial \overline{s}} = -\lim_{E \to 0^+} \iint_{B_E} dw = -\lim_{E \to 0^+} \iint_{B_E} \omega = -\lim_{E \to 0^+} (\int_{C_E} \omega - \int_{C_E} \omega)$ $= -\int_{C_E} \omega + \lim_{E \to 0^+} \int_{C_E} \omega$

IF R>>1, then g=0 m Cr so Sw =0.

Now
$$\frac{dz}{z} = \frac{d(ze^{i\theta})}{ze^{i\theta}} = \frac{e^{i\theta}dz}{ze^{i\theta}} + \frac{ize^{i\theta}d\theta}{ze^{i\theta}} = id\theta \text{ on } C_{z}$$

 zit

$$= \sum_{i=1}^{2it} \sum_{i=1}^{2it} \frac{e^{i\theta}}{z^{it}} = \frac{e^{i\theta}dz}{ze^{i\theta}} + \frac{ize^{i\theta}d\theta}{ze^{i\theta}} = \frac{1}{zit} \int_{0}^{2it} \frac{e^{i\theta}}{z^{it}} d\theta$$

$$= \sum_{i=1}^{2it} \frac{1}{z^{it}} \frac{e^{i\theta}}{z^{it}} + \frac{1}{ze^{i\theta}} = \frac{1}{zit} \int_{0}^{2it} \frac{e^{i\theta}d\theta}{z^{it}} + \frac{1}{ze^{i\theta}} d\theta$$

$$\frac{(mclude)}{\partial \xi} = \frac{\delta \xi}{\xi - \omega t} \int_{\xi}^{\omega} \omega = \frac{1}{\xi t} \lim_{\substack{k \to 0^+ \\ k \to 0^+ \\ 0}} \int_{0}^{\xi} \delta [\xi + \xi e^{(0)}] \frac{1}{\xi 0} = \Im(\xi)$$

$$= \Im(\xi) 2t \quad (\xi/\xi \text{ argumund})$$

$$= \Im(\xi) 2t \quad (\xi/\xi) 2t \quad (\xi/\xi)$$

$$F = \lim_{n \to \infty} h_n(z) \quad a \text{ show } f = h_n + \sum_{\substack{k=n \\ k \in n}}^{\infty} (h_{n+1} - h_k) \quad a \text{ X}_n$$

$$= \int F \in \mathcal{E}(X_n) \quad H_n \quad a \quad \frac{\partial F}{\partial z} = g_{1X_n} \quad a \text{ X}_n.$$

Д